0000000 (0o0o0o) Oct. 2, 2013 (Wed.)

(1] 00071 =[e,p000000000000 (00000a,23 €1, a1 <
2o = f(z) < f(z))000000000000000000

() I000000 ADOOOO

0 < Salf) = Salf) < (f(b) = f(a))|A|

gobobooogoboo

(2) fOI0Remann 00000000000 O0OOOO 520000000
oo

2| 0000000 Darboux 00O

S(f) = lim Sa(f)

|A]—0

gbobooggsiougogoboooooanboon

gobobooogon

e DO DDOOUUOUOLOOOOODDOOLDLDDOUOUUODDOUOOODDODDOD
gboboboogogobbbmogobobobbooooobobbooooboon
goboboooobbboooobbbooooobobooon

e OO UOOODLODLODUODUOOODLDDLDUOUDLDDLDOOOOO
o IIDUUOTXUDUOODOOODOODLOODLOODOODODODO

e DO OUDLOOUODLOODLOODOODO

00000 HPO URL
http://www.math.keio.ac.jp/ iguchi/Lectures/B3_2013.html



